MEWN G Tha 10 3g0 20)5

5

&77 Defefrwminants a~d Crr,w-‘g Ru(L

_DLQV\‘. )£ A =\a Y (5 o 2xZ G ix
T c 4

ton  the dafRleisud o et A
dencted det (A = lA\ - |a :\
= ad* be
mefg R‘(-(Q ’GN‘ 2 equqm awok A V«PI‘QLQ’S
Meethadd
@ GrphYy
ex; (2w +ty=| (Z) Subgtibsh o
B -2 S
5**57"’ ®t\:»:;\‘r\wdn'cq
. c ™ \Sf\u[Q_
CA\MM& o g & G\)UC;:; fc.:re_miwd
- M (4GAT
D= (A Ae:fh Cac et
5 5“ V‘\"\Ntﬂ

- (2)&) -GYy) = /012
= -7



" el :
2.

- dederm \are.
DX -~ dederminat V"' ' we r';e\gce_
Ke x-coefiesds with the crgtents

2. 5 S oy = -1

by = determirqut 3a’H‘0& by re@(qu‘Aj e
y-—cm@xi{eﬁ; w it e Cangtmafs

= (2N (2)-(3H(Q)
=4-a3=1

2|
32

fhe Hlohan & (x,y) W

o= b2l
D -2 2

= by - ‘ - - ,(-

7 D -7 2

soew=(2,7)

ML Awe 5 & Y o Crraers Rule s 3 eqws
CLV\A > Wtﬁwj h So -Leohbu; I A@.‘\J- WH—,



ML ?//o/lé‘

3
Use  Cawv's Ryl b Solte O
%‘. ?,7<+3*/ = A
bx+ 9y = |

L= lz sl @@ -@6) =0
- <l

\N\\w\‘\.(_ ﬂ\!S Sy s L
le.  1acone Skt %\o .SolJNM
i\

ov MQI\A-V\'{— ( H'dy w\lu\

Jo| u'hM\S
Wik
(x H‘— Bﬁﬁ \DK AV\A hy are o ,%57“@.\ LSAQP&M/
(L) Othawise Qﬂt me o D w—ﬁy ae w6t zen)
he Syen (3 iacoysichad

= (5Y9) -(OH(0) - @)1 -6)E)
< up ¢O - 2,30;4&7’0

e sycn AT s




Mmoae ‘7//0/,5 "7‘\
U Grerems Rule <@

g-_ 3)(_},_\/: O
X +8Y " O
B:\ : ) = (G =620
= /5 -€2) = 179 #0

The \)J‘\\\ be on 5o\o’nw\..

= ©O)E)-(e)(1) = O

\ \: (3o - Y@ = O



: ™ e ‘7{(0/45 \
Cal culate by \(owivy  daterminand: G/
e, [5%) diderwinait — By a4 mddhed NOT IA the m%ao&l

@0 Mg

/ >

-—

- 45 _ 59 = [13]

Mpphéadod Congud da Systen o equahiag;
=

2x +v + H2 =
Yy x +5y + P3
X 4'17'1"6"?-:"3

e e ! £!§‘ A :t" ¢ e exc‘d—ly'og. Solumm

VYes becwse D =93%0 -

= 6o+ +84 -20 —14 -/&

1

-7

Rumgder Yoo should oy fo onderstend he 3X3 veswy oF
Ceamee's Rule hy ceadiag N yoorown , bt you

will wor  he degied o 1+,



l"\q6 Af(o 15 |

q ‘ \ M Cf‘/L lAﬂqdﬁlH‘w;j aV\A COK‘Y\PQU\A& \MQJC‘/\'héﬁ

I A OO VNI\AL(O' :

S3 ~5
2 </)5 So (N R(S)
1\ 4498

-2 < 5 5o ro(z2 Y<K /0(&)

-20< 50
VL7 bt -2)®) > (-2)3)
~e > -y
248 bt (0)(2) > co)(5)
20 > -/5
_yg-| but EDCEY) > 30
12 > 1

ex: Solwe  Ax 4+ N )3

= - -~

IX > (2

) N2

YR
x> Thoes ways fo ere

, tha  awfwa
s A

Q) (a@b\ (g) lndeqval noTehim @fd——.\mf(‘?{”\
Notg e

A e <L‘{7OO> iX)X>H&

°1 234 S



e¥ . SAx+ 5 =22
-5 -3 -1t
M__+
-5 x > )b 0
b
~N% P _{__(_9_ (—-a)v 3‘}
-3 2
~lb
X & "2 Ix] xe 23

Solve - EXP’QS The QRGN USing indorve | nofitha,
24) kv -3 (dx+2) ~5 2 3(x+9) -2
fy - dAx —6b ~8 > Ix+/2-2x

-% =1l > % +/Z
+ (! 411

~X 2 X + 23

._-X -
—2x 23

ax 2

a2 - 2

Xé“% :”’-g



~a6  afelis ,
&\
a2 &

“Wnian  and " |atersache'of Sefs

e;;o,a> Fod the  iakmech/sa Og ‘/’l\a__ga heo Sedy
:io?,'—}e&/om.g B:%OSb?/ai

ndogechn = ANB :ﬁo SEFAS
A nowbe  Gppas M o [ adesTectinm £ i+

Nere - ‘
qP\geAg W Sot A Qé.& e QM e S‘d'B

b\ Fad A umion o‘p Seds A ad ¥

. /0
e = hUR =02 34 L 8T /0 RY
Nete : A Aowbn— appacg M the NI EA

& peary i ek Cil i+ eppen A St B

Dt~ ul/uu‘ set- Mg by grphiag -

zx ><>_|B xl)(c.zz
A — s asp (-1, 00)

iy 2

A DUV S (-0, 2]

« B

ANR o ————— ['1921

p)  Avp M (=0, ®)



MA(G 9//0//_> C

Ci—z( L(hew V\p‘h‘hﬁv\\ 22 X < 7

1S da.ﬁ_,@d‘b ™Meam <X AND xe 7
whide Hha Hlohsw fef ia

inderal  wotmhen [3,?) -
N 7
Q_f'. Cam. You R\,\A a nowmde~ wktc,&}qﬁgﬁq

5L x< ] 7

}
No lecate 4§ wamg S <X AND X<

Colohsm = & =B
hon = emply s .

(S ,{@B Su(\& avd 30\?\/\ eadn 57(\1"‘»&'\ Set

9 x45<-y o x 452

-5 °5 -5 -5
x £ -& SR x>
lo -& -1
) WA
| A

SD(vh;w\ af = Q.OO, *S/> U {:‘J R )



